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Please compl ete the following reactions:

1.
CH2CH=CH, 5 CH,CHCH_Br
9 (T
2.
0
?
R—=—H M
R™ “CHj
3.
CHy :
CH,=CHCH,CHCHCH; ————
|
cl
4. CH,CI
OH
“
Hee” NCHs
5
CHj

H3CH2CHC\g<CH3 v cHon MO



6.

O/CHZCHZOH H,Cro,
_—

CHs
hv
H3C/\(\/ . Br2 _hv

CHs

| Pd(PPhs),
+ CH,=CH, — 2>
Et:N

HNO,

—_—

H,SO,

7.

8.

10.

11.

15,
CH,O/HNMe,

Ny — 5

N
H



16.

(i) NCN
(ii) Hy, Ni

17.
Br,
—_—
FeBr,
O
18 g
(i) (CH),CuLi
—_—
(i) H,0
CH,
19.
R HBr
N— —_—
ROOR
20.

-+

. Which compound reacts most rapidly with CH3ONa? Explain the result.
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[1. Write aresonable and detailed mechanism for the following transformation.
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IV.  Rank the following compoundsin order of decreasing the acidity of the
indicated hydrogen.
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cis-4-Bromocyclohexanol and trans-4-bromocyclohexanol from the same
elimination product but a different substitution product when react with OH".

Explain, by showing the mechanisms, why different substitution products are
obtained.
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